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T ITHEHEESE
yhJyrnm1E
1 . BE B HEHI BikEE L (1) BRiKEE L (2)
BrERE m2) [3TFE (m3) |wrEHE n2) |32 FE (m3) | wrmda n2) | 3L F8 (m3)
B : NO.22+9.10 4.4 4.5
Z : SP.9(NO.22+11.374) 2.3 4.4 10. 1 4.5 10.4
B : SP.9(NO.22+11.374) 4.4 4.5
Z : NO.23 8.6 9.2 58.5 19. 4 5.3 22.8
B : NO.23 9.2 5.3
Z : EC.9(NO.23+11.951) 12.0 13.0 133.2 6.5 70.8
B : EC.9(NO.23+11.951) 13.0 6.5
Z : KA. 10-1(NO. 23+15. 780) 3.8 11.5 46.6 3.1 18.2
B : KA 10-1(NO. 23+15. 780) 11.5 3.1
Z : NO.24 4.2 7.3 39.5 6.5
B : NO.24 7.3
ZE . KE. 10-1 (NO. 24+16. 613) 16.6 4.7 99. 6
B : KE. 10-1(NO. 24+16. 613) 4.7
Z : KE.10-2(NO. 25+7. 676) 1.1 1.9 36.6 2.9 16. 1
B : KE. 10-2(NO. 25+7. 676) 1.9 2.9
Z : NO. 26 12.3 11.7 17.8
B : NO.26
Z= . KA. 11-1(NO. 26+8. 509) 8.5 1.2 5.1
B : KA. 11-1(NO. 26+8. 509) 1.2
Z : NO. 27 11.5 3.6 27.6
B : NO.27 3.6
Z : NO.27+5.00 5.0 9.0 5.6 14.0
B : NO.27+5.00 5.6
Z . KE. 11-2(NO. 27+14. 638) 9.6 7.2 61.4
B : KE. 11-2(NO. 27+14. 638) 7.2
Z : NO. 28 5.4 2.6 7.0 17. 4 66. 4
B : NO.28 2.6 17. 4
Z : NO.28+7.00 7.0 2.4 17.5 5.5 80.2
B : NO.28+7.00 2.4 5.5
Z . NO.28+13.3 6.3 2.4 15.1 5.5 34.7
B :
E
B :
E
B :
xE
B :
E
B :
zE
B :
zE
B :
zE

124.2 %%%//% 375.0
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T ITHEHEESE
VoI 158 _
- Sk BT (2) BERT HETHE
BrERE m2) [3TFE (m3) |wrEHE n2) |32 FE (m3) | wrmda n2) | 3L F8 (m3)

B : NO.22+9.10 4.6 0.08 0.67
Z : SP.9(NO.22+11.374) 2.3 4.6 10.6 0.08 0.2 0.67 1.5
B : SP.9(NO.22+11.374) 4.6 0.08 0.67
Z : NO.23 8.6 4.6 39.6 0.08 0.7 0.83 6.5
B : NO.23 4.6 0.08 0.83
Z : EC.9(NO.23+11.951) 12.0 7.0 69. 6 0.19 1.6 0.86 10. 1
B : EC.9(NO.23+11.951) 7.0 0.19 0.86
Z : KA. 10-1(NO. 23+15. 780) 3.8 7.0 26.6 0.19 0.7 1.3 4.1
B : KA 10-1(NO. 23+15. 780) 7.0 0.19 1.3
ZE . NO.24 4.2 6.1 27.5 0.19 0.8 0.42 3.6
B : NO.24 6.1 0.19 0.42
Z : KE. 10-1(NO. 24+16. 613) 16.6 50.6 0. 11 2.5 1.8 18. 4
B : KE. 10-1(NO. 24+16. 613) 0.11 1.8
Z : KE. 10-2(NO. 25+7. 676) 1.1 0.57 3.2 0.11 1.2 2.3 22.8
B : KE. 10-2(NO. 25+7. 676) 0.57 0.11 2.3
Z : NO. 26 12.3 4.0 28. 1 0.09 1.2 2.7 30.8
B : NO.26 4.0 0.09 2.7
Z : KA. 11-1(NO. 26+8. 509) 8.5 2.6 28. 1 0.09 0.8 2.7 23.0
B : KA. 11-1(NO. 26+8. 509) 2.6 0.09 2.7
Z : NO.27 11.5 2.3 28.2 0.10 1.1 3.6 36.2
B : NO.27 2.3 0.10 3.6
Z : NO.27+5.00 5.0 2.0 10. 8 0.11 0.5 3.8 18.5
B : NO.27+5.00 2.0 0.11 3.8
Z : KE. 11-2(NO. 27+14. 638) 9.6 2.6 22. 1 0.11 1.1 4.9 41.8
B : KE. 11-2(NO. 27+14. 638) 2.6 0.11 4.9
Z : NO.28 5.4 7.8 28. 1 0.19 0.8 1.8 18.1
B : NO.28 7.8 0.19 1.8
Z : NO.28+7.00 7.0 13.2 73.5 0.64 2.9 6.3
B : NO.28+7.00 13.2 0.64
Z . NO.28+13.3 6.3 13.2 83.2 0. 64 4.0
B :
E
B :
E
B :
E
B :
E
B :
E
B :
E
B :

i 124.2 /%/%/% 241.7
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: & IR PREIE
A m B W [mm
B : NO.22+9.10
Z : SP.9(NO.22+11.374) 2.3
B : SP.9(NO.22+11.374)
Z . N0.23 8.6
B : NO.23
Z : EC.9(NO. 23+11.951) 12.0
B : EC.9(NO.23+11.951)
Z : KA. 10-1(NO. 23+15. 780) 3.8
B : KA. 10-1(NO. 23+15. 780)
Z : N0.24 4.2
B : NO.24
Z : KE. 10-1(NO. 24+16.613) 16.6 517 42.9
B : KE. 10-1(NO. 24+16. 613) .
ZE : KE. 10-2(NO. 25+7. 676) 11. 1 4.30 52.6
B : KE. 10-2(NO. 25+7. 676) 4.30
Z : NO. 26 12.3 26. 4
B : NO.26
Z : KA 11-1(NO. 26+8. 509) 8.5
B : KA. 11-1(NO. 26+8. 509)
Z . N0.27 11.5
B : NO.27
Z : NO.27+5.00 50
B : NO.27+5.00
Z : KE.11-2(NO. 27+14. 638) 9.6
B : KE. 11-2(NO. 27+14. 638)
Z . NO.28 5 4
B : NO.28
Z : NO.28+7.00 7.0
B : NO.28+7.00
Z : NO.28+13.3 6.3
B :
X
B :
E
B :
X
B :
X
B :
E
B :
EE
B :
EE

7 1%1?%%%%IMI!%%%%IIII%%%%
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BEETEEXELITIHES
yoJyo 188

a1 - - RIEY ) ERL (1) ERL 2
BrERE m2) [3TFE (m3) |wrEHE n2) |32 FE (m3) | wrmda n2) | 3L F8 (m3)

B : NO.22+9.10 8.6 0.95
Z : SP.9(NO.22+11.374) 2.3 8.6 19. 8 0.95 2.2
B : SP.9(NO.22+11.374) 8.6 0.95
Z : NO.23 8.6 5.9 62.4 0.95 8.2
B : NO.23 5.9 0.95
Z : EC.9(NO.23+11.951) 12.0 35.4 5.7
B : EC.9(NO.23+11.951)
Z . KA. 10-1 (NO. 23+15. 780) 3.8
B : KA. 10-1(NO. 23+15. 780)
ZE . NO.24 4.2
B : NO.24
ZE . KE. 10-1 (NO. 24+16. 613) 16. 6
B : KE 10-1(NO. 24+16.613)
Z . KE. 10-2 (NO. 25+7. 676) 11.1
B : KE. 10-2(NO. 25+7. 676)
Z : NO. 26 12.3 4.5 27.1 3.2 19.7
B : NO.26 4.5 3.2
Z : KA. 11-1(NO. 26+8. 509) 8.5 7.3 50.2 0.82 3.5 13.6
B : KA. 11-1(NO. 26+8. 509) 7.3 0.82
Z . NO.27 11.5 12.0 111.0 0.55 7.9
B : NO.27 12.0 0.55
Z : NO.27+5.00 5.0 16. 3 70. 8 0.68 3.1
B : NO.27+5.00 16. 3 0.68
Z : KE. 11-2(NO. 27+14. 638) 9.6 9.6 124. 3 3.3 2.1 10. 1
B : KE 11-2(NO. 27+14. 638) 9.6 2.1
Z : NO.28 5.4 25.9 5.7
B : NO.28
Z : NO.28+7.00 7.0
B : NO.28+7.00
Z . NO.28+13.3 6.3
B :
E
B :
E
B :
E
B :
E
B :
E
B :
zE
B :

i 1%Z/2%!HH%Z%.&!/@% 49. 1

247



HKBEEYMITHEXTIIFFESE

yhJyrnm1E

7] = g [ om0 BRLID
Wi ERE m2) | 3L FE (m3) | WidE#E (m2) | L& (m3)
B : NO.22+9.10
Z . SP.9(NO.22+11.374) 2.3
B : SP.9(NO.22+11.374)
Z : NO.23 8.6
B : NO.23
Z : EC.9(NO. 23+11.951) 12.0 0.97 5.8 0.62 3.7
B : EC.9(NO.23+11.951) 0.97 0.62
Z : KA. 10-1(NO. 23+15. 780) 3.8 0.97 3.7 0.62 2.4
B : KA. 10-1(NO. 23+15. 780) 0.97 0.62
Z : NO.24 4.2 1.0 4.1 0.67 2.1
B : NO.24 1.0 0.67
Z : KE.10-1(NO. 24+16. 613) 16.6 1.0 16.6 0.78 12.0
B : KE. 10-1(NO. 24+16. 613) 1.0 0.78
Z : KE. 10-2(NO. 25+7. 676) 1.1 0.97 10.9 0.65 7.9
B : KE.10-2(NO. 25+7. 676) 0.97 0. 65
Z : NO. 26 12.3 0.13 6.8 0.33 6.0
B : NO.26 0.13 0.33
Z : KA. 11-1(NO. 26+8. 509) 8.5 0.14 1.1 0.35 2.9
B : KA. 11-1(NO. 26+8. 509) 0.14 0.35
Z : NO. 27 11.5 0.13 1.6 0.35 4.0
B : NO.27 0.13 0.35
Z : NO.27+5.00 5.0 0.12 0.6 0.34 1.7
B : NO.27+5.00 0.12 0.34
Z : KE. 11-2(NO. 27+14. 638) 9.6 0.10 1.1 0.33 3.2
B : KE. 11-2(NO. 27+14. 638) 0.10 0.33
Z : NO.28 5.4 0.59 1.9 0.40 2.0
B : NO.28 0.59 0.40
Z : NO.28+7.00 7.0 2.1 1.4
B : NO.28+7.00
Z : NO.28+13.3 6.3
B :
£
B :
£
B :
£
B :
N
B :
£
B :
F .
B :
N

7 1%&%%%%%I!!!%%%%Il!!%%%%
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Z m B B B OB 2
YU 188

s = PG EEER (ULE) [EmEER (ELE) _

” iEm [EEm)| Em |@mEm)| tgm |@&fE (m)
B : NO.22+9.10 5.00
Z : SP.9(NO.22+11.374) 2.3 5.00 11.5
B : SP.9(NO.22+11.374) 5.00
Z : NO.23 8.6 6. 30 48.6
B : NO.23 6. 30
Z : EC.9(NO.23+11.951) 12.0 8.21 87.1
B : EC.9(NO.23+11.951) 8.21
Z : KA 10-1(NO. 23+15. 780) 3.8 9.01 32.1
B : KA. 10-1(NO. 23+15. 780) 9.01
Z : NO.24 4.2 1.170 35. 1
B : NO.24 1.70
Z : KE. 10-1(NO. 24+16.613) 16.6 71.43 61.7 63.9
B : KE. 10-1(NO. 24+16.613) 1. 43
Z : KE. 10-2(NO. 25+7. 676) 11.1 41.2 6. 09 33. 8
B : KE.10-2(NO. 25+7. 676) 6.09
Z : NO.26 12.3 0. 56 40.9
B : NO.26 0. 56
Z : KA 11-1(NO. 26+8. 509) 8.5 1.86 10. 3
B : KA. 11-1(NO. 26+8. 509) 1.86
Z : NO.27 11.5 3. 44 30.5
B : NO.27 3. 44
Z : NO.27+5.00 5.0 3.97 18.5
B : NO.27+5.00 3.97
Z : KE. 11-2(NO. 27+14. 638) 9.6 4.66 41.4
B : KE. 11-2(NO. 27+14. 638) 4. 66
Z : NO. 28 b.4 11.19 42.8
B : NO.28 11.19
Z : NO.28+7.00 7.0 5.05 56. 8
B : NO.28+7.00 5.05
Z : NO.28+13.3 6.3 5.05 31.8
B :
zE .
B :
zE
8 :
£
8 :
£
8 :
£
8 :
£
8 :
£

) 124.2 /% 102.9 /% 585. 8 /%

249



E & I & &H =
VAPV AP RE=: ]

. - WEE<T Y k iR 74

A = B Em [mrm] mm [mEm] Bo [mEm
B : N0.22+9.10 5.00
Z : SP.9(NO. 22+11.374) 2.3 5.00 11.5
B : SP.9(NO.22+11.374) 5.00
Z . NO.23 8.6 6.30 48. 6
B : NO.23 6. 30
Z : EC.9(NO. 23+11.951) 12.0 8. 21 87.1
B : EC.9(NO.23+11.951) 8. 21
Z - KA. 10-1(NO. 23+15. 780) 3.8 9.01 32.7
B : KA. 10-1(NO. 23+15. 780) 9. 01
Z : NO.24 4.2 1.70 35. 1
B : NO.24 71.70
Z - KE.10-1(NO. 24+16. 613) 16.6 7.43 61.7 63.9
B : KE. 10-1(NO. 24+16. 613) 71.43
Z - KE. 10-2 (NO. 25+7. 676) 11.1 41.2 6.09 33.8
B : KE. 10-2 (NO. 25+7. 676) 6.09
Z : NO. 26 12. 3 0.56 40.9
B : NO.26 0.56
Z : KA. 11-1(NO. 26+8. 509) 8.5 1.86 10. 3
B : KA. 11-1(NO. 26+8. 509) 1.86
Z . NO. 27 11.5 3.44 30.5
B : NO.27 3.44
Z . NO.27+5.00 5.0 3.97 18.5
B : N0O.27+5.00 3.97
Z - KE. 11-2(NO. 27+14. 638) 9.6 4.66 411.4
B : KE.11-2(NO. 27+14. 638) 4. 66
Z : NO.28 5.4 11.19 42. 8
B : NO.28 11.19
Z . NO.28+7.00 7.0 5.05 56. 8
B : NO.28+7.00 5.05
Z . NO.28+13.3 6.3 5.05 31.8
B :
F
B :
FE
A
zE .
A
zE .
o
zE .
=
zE .
=
zE

" 124. 2 /% 102. 9 /% 585.8 /%
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B & #®H & § g F
oA fhog L B RO® 1.0 KLY
£ 1 =1 = Bl % =
B | M avo1)—krRXE 2 (A3) 1500 %1500
(t=14cm) |N = = 35 #

Al = 1.500 x 1.500 x 35 = 78. 150
avo1)—kRXE 2 (AaR4) 1350 x 1500
N = = 1 #%
A2 = 1.350 x 1.500 x 1 = 2.025
1) — kXX (BbP4) 1500 % 1480 &= L FAD13
N = = 12 #%
A3 = 1.500 x 1.480 x 12 = 26.640
9 1)—kXF > (BbRP4) 1350% 1480 = L##HD13
N = = 1 #%
AM = 1.350 x 1.480 x 1 = 1.998
a4y )—krXF>2 (BbLP4) 1350%x 1480 = L AAD13
N = = 1 #%
A5 = 1.350 x 1.480 x 1 = 1.998
avo1)—krRXFX 2 (62) 1500 % 750
N = = 9 &
A6 = 1.500 x 0.750 x 9 = 10.125
1) — kXX (CR2) 1350 % 750
N = = 1 #%
A7 = 1.350 x 0.750 x 1 = 1.013
o) — kXX (CL2) 1350 % 750
N = = 1 #%
A8 = 1.350 x 0.750 x 1 = 1.013
o 1)—krRXF2DP2) 1500730 = L#s D13
N = = 9 &
A = 1.500 x 0.730 x 9 = 9. 855
9 1)—kXF 2 (A03) 1500 % 1500 yvdp = ¢ 250
N = = 1 #%
mo = 1.500 x 1.500 x 1 = 2.250
YA = 135.667 | m? 135. 67
A M1y 7 | L6.000m
(SS400) N = = 46 K
(PLB0x4.0) |L1T = 6.000 x 46 = 276.000
L=5.500m
N = = N
L= 5500 x 59 = 324.500
L=5.000m
N = = b3 &K
L1 = 5.000 x 53 = 265.000
L=4. 500m
N = = 50 XK
L2 = 4.500 x 50 = 225.000
YL = 1,090.500 | m 1,090. 50
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B o om B OB OH OB
bt Al T b3} 1% 1.0 RHY
£ i g = BEAI| # =
RILk-Fv b
(M12x40) [N = 46 + 59 + 53 + 50 = 208 | #A 208. 00
mER At E|L = 125 x210x 3.2 x1500 = 11 K
(6=90° ) |L = 125x210x3.2x 750 = 11 K&
avyy—k(N = 2 x 2 = 4| @ 4.00
7Foh—
(M12 x 90)
KFEB A | 1ET24k
(85%20%x600)|N = 48 x 2 = 96 | ¥ 96. 00
BIKFFEL A
(420x4) N1 = 2.230 x 2 = 4. 460
N2 = 2980 x 4 = 11.920
N3 = 3.730 x 5 = 18. 650
Nd = 4.480 x 3 = 13. 440
N5 = 5,230 x 4 = 20. 920
N6 = 4.480 x 2 = 8.960
N7 = 3.730 x 1 = 3.730
N8 = 4.480 x 1 = 4. 480
N9 = 3.730 x 1 = 3.730
2L = 90.290 | m 90. 29
ZFavh-+]
Y-
(24-8-25BB) |V = ( 0.668 x 0.300 + 0.250 x 0.160 )
X 34. 250 = 8.234 | m?® 8.23
it B
A= ( 0668 x 2 4+ 0.250 ) x 34. 250
+ 0.404 x 0.300 4+ 0.250 x 0.160
= 54,482 | m? 54. 48
% f7 | 43.0kg/3.0m
(SD345 D13) |W = 34.250 x 43.0 / 3.0 = 490.917 | kg 490. 92
B i#h #
ErmgEme=lom (A = ( 0.668 x 0.300 4+ 0.250 x 0.160 )
X 8 = 1.923 | m? 1.92
B i T
(TA7" 39h) |L = = m
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B

#

B

i

=
WA et R BOO® 1.0 ALy
2 =1 = B % =
(Z0))- M EWE REENS)
H1 (m) H2 (m) L (m) A (m?)
M =1/2x( 0.335 + 0.605 )x 2.365 = 1.112
A2 =1/2x( 0.605 + 1.165 )x 5110 =  4.522
A3 =1/2x( 0.415 + 1.160 )x 6.794 =  5.350
M= 1/2x( 1.160 + 1.233 )x 0.729 =  0.872
A5 = 1/2x ( 0.483 + 0.946 )x 4.477 =  3.199
A6 = 1/2x( 0.196 + 0.220 )x 0.231 =  0.048
AT = 1/2x( 0.220 + 0.563 )x  3.909 = 1.530
A8 = 1/2x ( 0.563 + 0.972 )x  6.360 = 4. 881
A9 = 1/2x( 0.222 + 0.256 )x 0.535 =  0.128
mo = 1/2x ( 0.256 + 0.404 ) x  3.740 = 1.234
&t L= 34.250 A= 22.876
BEFEHS=  22.876 / 34.250 = 0.668 m
HE BTN
(=g (L = = 17.600 | m 17. 60
[ERET (A)ZHEE] 10mHY
a4 1) — k (18-8-40BB)
V = 0.200 x 0.400 x 10.0 = 0.800 13
B
A= 0200 x 2 x 10.0 4.000 2
EFEFF (RC-40 t=20cm)
A = 0.600 x 10.0 = 6.000 2
V = 6.000 x 0.200 = 1.200 md
$5%5 (SD345 D13)
W = 0.600 kg/m x 10.0 = 6.00 kg
HE®BE A =0.600x10.0 = 6.00 m2
H g
(B EYER) (N = = 1.000 |E&FF 1.00
(E#T WD) BEEYET) 10EmRYY
a4 1)— k (18-8-40BB)
V=1/2x( 0475 + 0.100 ) x 0.750
x 0.400 x 10.0 = 0.863 md
B
A={1/2x ( 0475 + 0.100 ) x 0.750
x 2 + 0.400 x 0.750 } x 10.0
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B

iz

B

i

=
M A Wit R 10 HHY
£ ¥ = gl % 2
= 1.313 m?
E@ IO
(BREVYER2) N = = 1.000 |&FR 1.00
(£ W) Y2 10BHSY
a9 )— k(18-8-40BB)
V=1/2x (052 + 0100 ) x 0.850
x 0.400 x 10.0 = 1.063 3
B
A=1{1/2x (052 + 0100 ) x 0.850
x 2 + 0.400 x 0.850 } x 10.0
= 8.713 m?
£% I
(FREERR) |L = = 16.650 | m 16. 65
(£HT B)BLEL] 10mHY
a9 )— k(18-8-40BB)
V. = 0.300 x 0.600 x 10.0 = 1.800 3
2
A= 0300 x 2 x 10.0 = 6.000 2
RHEH (RC-40 t=200m)
A = 0.800 x 10.0 = 8.000 m?
V = 8.000 x 0.200 = 1.600 3
#k A7 (SD345 D13)
W = 0600 kg/m x 10.0 = 6.00 kg
EMEEIE A =0.800x10.0 = 8.00 m?
£ IO
(BREVYER) [N = = 2.000 |&FRr 2.00
[£5T ) BLY#H] 10BHHY
a9 )— k(18-8-40BB)
V=1/2x (045 + 0100 ) x 0.750
x 0.600 x 10.0 = 1.294 33
B
A=1{1/2x ( 0475 + 0.100 ) x 0.750
x 2+ 0.600 x 0.750 } x 10.0
= 8.813 m?
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B o oW OB OB N OB
H Al fhog L B RO® 1.0 KHY
£ {1 =1 = B # =
HEAM
(RC-40) R T B EEETE A = 135.667 2
ZAMDES t = 0.500 m
Rt e IER L = 34.250 m
L - RS S H = 0.250 m
V = 135.667 x 0.500 — 0.250 x 0.500
x  34.250 = 63.552 | m?® 63. 55
B R 4 HE KB (300 x 50ELE) ¢
210.0m 34 Ar, L=6. J0m 2 \ N
Bt N L
2 E?W T
WISy b =
{RC-40) ! B L
HEAE (SEFLE 6 200) b 00
IEEE. L=6. dm, 1Y
WAk &— b (£=2. 0~2. Tim)
(RE#AR) T2 TN RTEH)
BEKT vy b |HEAKIE K Y
(RC-40) V=1{1/ 2x ( 4000 4+ 4320 ) x 0.640 }
x 14.900 +
[ 1/ 2x ( 4500 + 4.820 ) x 0.640 }
X 4.500 +
{ 1/ 2x ( 5500 4+ 5820 ) x 0.640 }
X 6.000 +
{ 1/ 2x ( 4500 + 4.820 ) x 0.640 }
X 3.000 +
{ 1/ 2x ( 4000 4+ 4320 ) x 0.640 }
X 1.500 +
{ 1/ 2x ( 4500 + 4.820 ) x 0.640 }
X 1.500 +
{ 1/ 2x ( 4000 4+ 4.320 ) x 0.640 }
X 2.850 = 99.827 | m?® 99. 83
W BFIEY - |HEKITR K Y
(t=2.0~2. 1mm) | RAHHES VIATI R K
A= 4320 x 14.900 + 4.820 x 4.500
+ 5.820 x 6.000 + 4.820 x 3.000
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B & #H E FF E £
wmo A Fhok + B y3:) KLY
% 7 =1 = H =
+ 4320 x 1.500 + 4.820 x 500
+ 4.320 x 2. 850 = 161.460 161. 46
BREEHEAM [HEKIRK KLY
(300 x50 L) [ L = = 6. 700 6.70
SHKE |BEKIRKY
(BHE $200) | #iwres
L = = 32.200 32.20
K E |[HKIKKY
(BILE $200) | 1M
L = = 6. 400 6. 40
B A |(HKkIRLY
(RC-40) |V = { 1/ 2x ( 0.400 + 0.900 0. 500
— 0.200 2 x /4 } x = 9. 453 9.45
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R T 2)IER MRt L T THEE

"o E o e 1 (mf? fi§ %
7 1 ik ) ¥R

NO.26+6.13 0.000 8.2 KA.11-1 %M
KA.11-1(NO.26+8.509) 2.365 8.2 8.20 19.39
NO.27 11.904 20.1 14.15 168.44
NO.27+5.00 5.437 25.7 22.90 124.51
KE.11-2(NO.27+14.638) 10.804 19.5 22.60 244.17
NO.27+18.00 3.740 19.5 19.50 72.93 KE.11-2 #H

a F 34.250 629.44
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B

Al

RETE
[L7]
TEHI 475.4
FRYEY 5275  ¥EEET
FRYEY 56.3  HEKEEWI
PEHI 939 (RELEREZEQ)
1EHI 5403 {REZEREE®Q)
& i 1693.4 LA~ FH
(L]
HETHEE 241.7
& &t 2417
WELS
[L7]
BAARE0) 105.4
BRAKEE 1 (2) 375
BREREE L (2) 529.8
BE=t 20.1
mamteEt 629.4
BERL 83.0 HEEET
BERL 499  HEKEBEWI
& F 17926 oIt (WO BMBELEL)EFER
[BEAZL]
(1) 16.2 {REHEBREEQ)
& 16.2
Bt E
[17]
RiENs  #HELIOS
\Y; 241.7
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m B’ O T =

VU1 8 B Q) RERERE W30 t=12cm)

pil = BEE (m) |18 (m) |E#E (m) Al = BE (m) |18 (m) |E#E (m)
g: NO.22+9. 10 4.10 El
Z . SP.9(NO. 22+11.374) 2.3 4.10 9.4 |=:
B : SP.O(NO.22+11.374) 4.10 B :
=: NO.23 8.6 4.10 35.3 |=:
g: NO.23 4.10 El
Z . EC.9(NO. 23+11. 951) 12.0 4.10 49.2 |=:
B : EC.9(NO.23+11.951) 4.10 B
Z . KA. 10-1(N0. 23+15. 780) 3.8 4.10 15.6 |=:
B : KA 10-1 (NO. 23+15. 780) 4.10 EE
=: NO.24 4.2 4.25 17.5 |=:
g: NO.24 4.25 El
Z . KE. 10-1(NO. 24+16. 613) 16. 6 4.80 75.1 [=:
B ¢ KE 10-1 (NO. 24+16. 613) 4.80 EE
Z: KE 10-2(NO. 25+7. 676) 1.1 4.80 53.3 |=:
B : KE.10-2(NO. 25+7. 676) 4.80 S
=: NO. 26 12.3 4.40 56.6 |=:
g: NO. 26 4.40 El
Z . KA 11-1(NO. 26+8. 509) 8.5 4.15 36.3 |=:
B : KA. 11-1(NO. 26+8.509) 4.15 S
=: NO.27 11.5 4.85 51.8 |=:
g: NO. 27 4.85 El
=: NO. 27+5.00 5.0 5.15 25.0 |=:
g : NO.27+5.00 5.15 El
Z . KE 11-1(NO. 27+8.509) 3.5 5.40 18.5 |=:
B : KE. 11-1(NO. 27+8.509) 5.40 S
Z . KE. 11-2(N0. 27+14. 638) 6.1 5.40 32.9 |=:
B ¢ KE 11-2(N0. 27+14. 638) 5. 40 B :
=: NO.28 5.4 5.00 28.1 |=:
g: NO. 28 5.00 El
=: NO.28+2.70 2.7 4.85 13.3 |=:
B: B :
E S
B: B :
E S
B: B :
E S
B: B :
E S
B: B :
E S
B: B :
E S
B: B :
E S
e 1360 /| 5119 N E W////////////%
& % 1360/ 5119
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m B’ O T =

vroJro 188 RE () FEHY vy7" As(13) t=4cm)

pil = BE (m) |18 (m) |E#E (m) pil] = BE (m) |18 (m) |E#E (m)
g: NO.22+9.10 4.10 El
Z . SP.9(NO. 22+11.374) 2.3 4.10 9.4 |=:
B : SP.O(NO.22+11.374) 4.10 B :
=: NO.23 8.6 4.10 35.3 |=:
g: NO. 23 4.10 El
Z . EC.9(NO. 23+11. 951) 12.0 4.00 48.6 |=:
B : EC.9(NO.23+11.951) 4.00 B :
Z . KA. 10-1(NO. 23+15. 780) 3.8 4.00 15.2 |=:
B : KA 10-1 (NO. 23+15. 780) 4.00 EE
=: NO. 24 4.2 4.15 17.1 |=:
g: NO.24 4.15 El
Z . KE. 10-1(NO. 24+16. 613) 16. 6 4.75 73.9 [=:
B : KE 10-1 (NO. 24+16. 613) 4.75 EE
Z: KE 10-2(NO. 25+7. 676) 1.1 4.75 52.7 |=:
B : KE.10-2(NO. 25+7. 676) 4.75 S
=: NO. 26 12.3 4.40 56.3 |=:
g: NO. 26 4.40 El
Z ¢ KA 11-1(NO. 26+8. 509) 8.5 4.10 36.1 |=:
B : KA. 11-1(NO. 26+8.509) 4.10 S
=: NO. 27 11.5 4.80 51.2 |=:
g: NO. 27 4.80 El
=: NO. 27+5.00 5.0 5.10 24.8 |= .
g : NO.27+5.00 5.10 El
Z . KE 11-1(NO. 27+8.509) 3.5 5.35 18.3 |=:
B : KE. 11-1(NO. 27+8.509) 5.35 S
Z . KE. 11-2(N0. 27+14. 638) 6.1 5.35 32.6 |=:
B ¢ KE 11-2(N0. 27+14. 638) 5.35 EE
=: NO.28 5.4 4.90 27.7 |=:
g: NO. 28 4.90 El
=: NO.28+2.70 2.1 4.75 13.0 |=:
B: B :
E S
B: B :
E S
B: B :
E S
B: B :
E S
B: B :
E S
B: B :
E S
B: B :
E S

N 136 V) 5122 5 T

N

op =
1]

5 1360 /| 5122
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B f % E & & £
FET
@ 5l I T B | e | 10 Y
% % = sl B B
Wh)-MTEET [ CTG-400 B=1.000m L=4.906m #fs A W=3533kg/#
N = - 3| #& 3.00
whY-MrEYET | CTG-400 B=1.000m L=4.906m #h7ZEF W=3533kg/#&
N = - 2| & 2.00
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B

iz

#

=
==}

i

=
LET
bt Al TRERHERT T b3} 1.0 RHY
£ L g = B # =
BERH MBS
(B&E"E t=20mm) [A1 = 0.668 x 0.400 + ( 0.668 + 0.492 )
/ 2 x 4.200 + 0.492 x 0.400 = 2.900
AR
A2 = 0.520 x 0.400 + ( 0.520 + 0.680 )
/ 2 x 4.200 + 0.680 x 0.400 = 3. 000
2 = 5.900 [ m? 5.90
O LZAK |t=20mm 300 x 300
(FEEIL) [N = 2 x 2 = 4| 4.00
LT AK |t=20mm 300 x 600
(FBEIL) N = 4 x 2 = 8 | & 8.00
T7oh—RIL | 25 L=600mm Fyb - 7" L-Mst
(BE# $S400) [ N = 4 | K 4.00
Toh—HRIL | $25 L=600mm FUh-F+vy7" M+t
(RIEhi% SS400) [ N = 4| K 4.00
TUh-FLENAN 2
(EIGBEML) [V = 4/t x 0.100 x 0.350 x 4 x 2 = 0.022 | m?® 0.02
BEII (MBS
(FEARSEEMOL) IV = ( 0.400 + 0.442 ) / 2 x ( 0.042
+ 0.022 ) / 2 x 5.000 = 0.067
A2t E
V2 = ( 0.400 + 0.427 ) / 2 x ( 0.027
+ 0.047 ) / 2 x 5.000 = 0.076
> = 0.143 | m?® 0.14
HEFaH)-b
(24-8-25BB) |V = 0.0096 x 4.906 x 5 0.235 [ m?® 0.24
#h&EIU)-+ | Z£4l
(24-8-25BB) |V = 0.301 x 0.400 x 4.906 = 0. 591
=1
Vi= 0470 x 0.400 x 3.250 = 0.611
V2 = 0.217 x 0.400 x ( 0.450 + 1.200 )
= 0.143
FAIET = 0.754
Y = 1.345 | M8 1.35
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B & #H E FF E £
FERT
bt Al RIS T 537} % 1.0 RLHY
£ 1 g = BfAI| # =
B | £4A
A= 0301 x ( 4906 + 0.400 ) x 2 = 3.194
1
Al = ( 0.470 x 3.250 + 0.250 x 0.400 )
X 2 = 3. 255
A2= 0217 x ( 1.650 + 0.400 ) x 2 = 0. 890
FHIET = 4.145
> = 7.339 | m? 1. 34
HhE $5 5
(SD345 D13) (W = #AFEERLY 2 = 133.3 | kg 133.30
HEEES VYU
(18-8-25BB) |V = 4.200 x 4.900 x 0.085 = 1.749 | m? 1.75
TA7PWMNEESEE | BRIE 7 X2 (13) t=bcm
A= 4200 x 4.900 = 20.580 | m?® 20. 58
ERFAMGEM| Gr-C-2B KT R—XTFL—FX
A—FKL—JL|L = 4.900 + 3.000 = 7.900 | m 7.90
Toh—mRILE| £, 2B, 1W{T
M22x230) IN = (4 + 3 ) X x4 K/ #& = 28.000 | K& 28.00
BREHD T
R-225NAER) N = (4 + 3 ) ZHE x4 K/ # = 28.000 | & 28.00
Hl 7l
(p26x180) [N = (4 + 3 ) ZXHE x4 K/ & = 28.000 |#AT 28.00
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B L W E F OHE £
THI
oA TR T RO#® A1EE 1.0 KLY
£ {1 =1 = B # =2
RIEY (1)
(8 vV = 1.8 x 5.0 = 9.0 [ m? 9.00
HEL)
REAEL, £V = 0.75 x 5.0 = 3.8 md 3.80
% T XE®RTTIZTEL
V = 9.0 — 3.8 / 0.9 = 4.8 | m? 4.80
[ THrmEX]
R

R

400 950 400

...+
C el
> >
e~

Hei S
il
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B & #H E FF E £
TET
WA RSN T BO® A 1184 1.0 XYy
% 7 =1 = Bl & B
avoY—h B OE
(24-8-25BB) [V = 0.950 x 0.500 x 5.000 = 2.375 | m?
BITEN-M SRy R
(24-8-25BB) | BTEEHE
A= 0668 x 0400 + 1 / 2 x ( 0.668
+ 0.580 ) x 2.100 + 1 / 2 x ( 0.580
+ 0.492 ) x 2.100 + 0.492 x 0.400
= 2.900 | m?2
EEEE
A= 0651 x 0400 + 1 / 2 x ( 0.651
+ 0.562 ) x 2100 + 1 / 2 x ( 0.562
+ 0.473 ) x 2.100 + 0.473 x 0.400
= 2.810 | m?2
x &
V=1/2x( 290 + 2810 ) x 0.400
= 1.142 | m3
aAavhs Y —rEE = 3.517 | m? 3.52
B OB | B OE
Al = ( 5.000 x 2 + 0.950 x 2 ) x 0.500
= 5. 950
INS Ry R
A2 = BTEEELY = 2.900
A3 = EEEELY = 2.810
M=1/2x ( 0.668 + 0.651 ) x 0.400
= 0. 264
A5 =1/ 2 x ( 0.492 + 0.473 ) x 0.400
= 0.193
Y = 12117 | m? 12.12
#% & | DI3
(SD345) |W = BEEERLY = 97.5 | kg 97.5
D16
W= kmE=sxRLY = 155.6 | kg 155.6
Az 22 m A 42
(¢100%x350) |L = 0.350 x 5 = 1.750 | m 1.75
¥ Lavy)-+
(C-170BB) |V = 5.200 x 1.150 x 0.100 = 0.598 [ m? 0.60
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B & H E H E £
TET
# Al TRERtENT T RO® A1$BE 1.0 KBy
£ 1 = = Bl # =
g LRI
= ( 5200 + 1.150 ) x 2 x 0.100 = 1.270 | m? 1.21
K5 L
= 5200 x 1.150 = 5.980 [ m? 5.98
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B & H E H E £
TET
# Al TRERtENT T RO® A21B4E 1.0 KBy
£ 1 =1 = Bl # =
R#EY (1)
() V = 1.3 x 50 = 6.5 | m? 6. 50
HRELA)
GRALX, x®)|V = 0.62 x 50 = 31| md 3.10
% * XERLTTIZTEHE
vV = 6.5 — 3.1 / 0.9 = 31| m 3.10

(X ThrmEX]

‘ 400 | 950 | 400 ‘

e SH
CHE
> >
Il
o -
o W
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B & #H E FF E £
TET
WA RSN T BO® A21B& 1.0 XYy
% 7 =1 = Bl & B
avoY—h B OE
(24-8-25BB) [V = 0.950 x 0.500 x 5.000 = 2.375 | m?
BITEN-M SRy R
(24-8-25BB) | BTEEHE
A= 0520 x 0400 +1 / 2 x ( 0.520
+ 0.600 ) x 2.100 + 1 / 2 x ( 0.600
+ 0.680 ) x 2.100 + 0.680 x 0.400
= 3.000 | m?2
EEEE
A= 0541 x 0400 + 1 / 2 x ( 0.541
+ 0.620 ) x 2.100 + 1 / 2 x ( 0.620
+ 0.699 ) x 2.100 + 0.699 x 0.400
= 3.100 | m?2
x &
V=1/2x (3000 + 3100 ) x 0.400
= 1.220 | m3
aAavhs Y —rEE = 3.595 | m?3 3. 60
B OB | B OE
Al = ( 5.000 x 2 + 0.950 x 2 ) x 0.500
= 5. 950
INS Ry R
A2 = BTEEELY = 3.000
A3 = EEEELY = 3.100
M=1/2x ( 052 + 0.541 ) x 0.400
= 0.212
A5 =1/ 2x ( 0.680 + 0.699 ) x 0.400
= 0.276
Y =  12.538 | m? 12.54
#% & | DI3
(SD345) |W = BEEERLY = 98.5 | kg 98.5
D16
W= kmE=sxRLY = 158.3 | kg 158. 3
Az 22 m A 42
(¢100%x350) |L = 0.350 x 5 = 1.750 | m 1.75
¥ Lavy)-+
(C-170BB) |V = 5.200 x 1.150 x 0.100 = 0.598 [ m? 0.60
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B & H E H E £
TET
# Al TRERtENT T RO® A21B4E 1.0 KBy
£ 1 = = Bl # =
g LRI
= ( 5200 + 1.150 ) x 2 x 0.100 = 1.270 | m? 1.21
K5 L
= 5200 x 1.150 = 5.980 [ m? 5.98
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B 4 &% B & &

oA ftiEHEK BB BF300 10 HEERTHY
5 " = Bl % #
fEEHEK L = BKBEMIITERMKY = 43 m 43
TVAANRRES L = HKEEM I IERKY = 20 m 20
BSIToRAMD|IN = HIKEEYM I TER(KY = 10 |&fR 1.0
SHERRYIBT |L = 0.6+0.6+338 = 50 m 5.0
SHERREREE |A = 06x38 = 23 | m2 2.3

MEEE | BRI TRVO)HE TR
A = 05%x38 = 19 | m2 1.9
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B ofo®w B M NS
oA R EE BRI (2) I 10 HHY
5 5 = Bl % B
Al V = B ES XY 939 | m3 93.9
BE) |V = BIMEEELRY 162 | m3 16.2
ERPKEMEO)| ¢ 8000 —MEEIE 11.0 m 11.0
VYY) -MEERL | BRIV - B
V = 04X04x11.0%2 35 | m3 35
RIEMRALIE(2) | BV ) - M ERIEL 5 35 | m3 35
RETOWE(N = 7+14 210 | & 210
meRERERLE|FETD XRFERBEQRMKNTE L 1.0 = 1.0
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B R (2)

++ I

Bt

5 2

o.1

iz

HEHI

®t0)

T EHE(m2)

3L FE(m3)

T EHE(m2)

3L F8E(m3)

13.1

0.0
1.2

7.9

23
0.07

15.5

20.0

1.2
1.4

86.0

0.07
0.0

0.7

i e i e e R L Ll L e i e e R L L L L e e e R R

33.1
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B I #t E 5/t B8 &
oAl R 5% E BRI (3) BO® 10 KKy
5 5 = Bl % #
#EAI V = BlEETEELY = 4941
TRERED V = (3.7+2.9)/2x 140 = 462
YV = 5403 | m3 540.3
EREKEREG)| @ 1000E B ERYIFLVE L = 500 | m °0.0
REEDS5HEE N = 200 | & 20.0
BISRERERLE(FE TS N = 10 = 1.0
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+ 1T iH HE #
REREREEQ)

: . 8

A & BB Wi EE(m2)| AL FE(m3)
No.20 6.7
KA5-2(No0.20+14.682) 147 8.0 108.0
KA5-2(No0.20+14.682) 8.0
No.21+8.50 13.8 242 222.2
No.21+8.50 242

No.22 115 4.3 163.9

il i e e R L L L e i e e R L L L L e e e R R
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B f #H B Gt E £
oAl RIS R A MEHRALIE b3 ‘7S5 1.0 =®HHY
5 5 = Bl % #
e 5% E R (2)
RisxERERLE] KEBELT DS kg/4%
w2 = 210 x 39 = 819
t = 819 ,/ 1000 = 0.082
1 5% & R 1R (3)
BEEHKEREQ SEERIFLVE
¢ 1000 kg/m
wl = 500 x 4412 = 2206
KEL DS keg/ %
w2 = 200 x 39 = 78
W = 2206 + 78 = 2284
2284 /1000 = 2284
nos W = 0.082+2.284 = 2366 t 24
ERER |SFEEFIFLVE
N = =
KEL+DS
W = = t =
IN = =]
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B 6 # B

|

=
oAl ROy T R RO 10 =HHyY
% W g = B #H 2
ROSvTERO| AT —RE
H4 t=1.6 ¢ 800 kg/m
wi = 110 x 2125 = 23375
23375 / 1000 = 0234 t 0.2
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TR28EE BER F15

VU BRRUALORERSETE
BB KR

(REILOR)
2N BRI R
LA L1 fHE

LA LT HB{RE%
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I 5 8 = # BB %

LAILA

LAIL2

LAIL3

L~IL4

LAILS

(TER%) (T #® | GE 5 @A o T REIROE
EIRW R = 1
ERRET 2 1
#EHI T 2 1
izl T8 m3 310
KL FIER HMELX | m3 20
BAELT % 1
BRREE () AL | m3 30
BRAREEL T % 1
PRPREEIE m2 829
BREREE (1) AL | m3 50
BRERTT 2 1
mEEL AL | m3 0.2
REIEBT = 1
RIERL HMIEEL | m3 10
FEEERT =X 1
SEE R (Bt £6) m2 140
TEYERRT = 1
TREERD) | HELX | m3 10 | L=0.2km
TREFERRQ ) m3 240 | 1L=0.2km
EET K 1
EAET = 1
iR 73 m2 140
B-70yEGE T =® 1
EEXT = 1
KREY) T8 m3 80
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I 5 % 2 £ B %
L)L LAJL2 LAJL3 LA)L4 LARILE |y ] s =
(TER%) (T ® | (&8 3) @ ) | og o TN OHE W =
IBERELW) il ;e m3 50
a9)-b7'0vH) T = 1
UHAHLERTE B S
whY-t7'oysiE1)| X350 = 1| A=58.1m2
Y4BT RS
Y -t7'oysEER)| X350 = 1| A=95.0m2
UHAHLERTE RS
v9)-+7'0ysiER)| X 350 = 1| A=57.1m2
HEK#EEY T = 1
EELT = 1
RIEY(3) T m3 10
BERELE3) RC-40 m3 1
BET = 1
EEHEKEN) | VPO T5 m 5 IREER
EEHKER) | VPH100 | m 6 REER
EEHEKEBR) | VPH150 | m 5 IREER
B F A+
B {9 k4e(1) d75 AT 1 IREER
B F A+
{9k 48(2) ® 100 I3 1 IREER
B F A+
{90 7k 42(3) ® 150 I3 1 IREER
BEYEET = 1
BEYEUELT =t 1
URMEIEEREL(1)|  U-300B m 1 |#%85Co
AEAREL m?2 123 |#Ef7Co
S IR U BR m 7
EE t=5cm m2 660
ERAIE T = 1
FOBMALER(1) | $%kFRCo m3 0.1
FOBHEAIR(2) | EFHCo m3 43
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I X 8 E # # %
TEEm G w  @wm | g mh  mow L RE @ E
BROE i AL 3E(3) As m3 33
RE& T 2 1
REZEBRIEAT = 1
R B BRI (1) =X 1
XBEEET = 1
RBEFEERE =X 1
xEBeEmas I 1 46.0 A
T K 1
T = 1
FEARET (313l 1
ik = 1
ST 2 1
FRI7IVNEHET =X 1
=200

iz:34D) RC-40 | m2 880

BEFHEAD)
KEX) t=5cm m?2 860
E R RIEE T = 1
EERAEY T = 1

5tk ¢ 100
RERFEF i [ x 16
HoERER 28 1
B REEE 28 1
BifIEEE = 1
T HRRE =X 1
TEHE | 1
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= = =
) = &t " = AL O
LARJL2 LARJL3 LAR)L4 LARJLE [y -
(T i®) (& 7 R GE®E U E ) o=
ERtTT
EEIT
PEHI V = GlIfEETEEZE XY = 311.0| m3 | 311.0
= T FIEY #H1EL t=30cm
V = GlfRETEE XY = 212 | m3 21.2
AT T
BRIAEET) |V = RIMRAEEZ LY = 293| m3 29.3
BRERELT T
IRPREIE A = R#RETEELY = 8290| m2| 8290
BERZELA) |V = BKHEELY =  542| m3 54.2
RERLTT
BRERLT V = BlIfRETEEZE XY = 02| m3 0.2
xtEIBT
xTEERL WHELT #Ex
V = GlIfRETEE XY = 142 | m3 14.2
FEERT
EEEREE LI BlIfRFTEEZ LY
Al =1
A = 40 4+ 1385 = 1425| m2 | 1425
TENEHRT
TENEHRG) |V = EBRETEEEE)KY = 54| m3 54
TENEHRQ) |V = BT EEEE0)KY = 2435| m3 | 2435
ZFEL
EET
ik Z AR EZE LY
Al =1
A = 40 4+ 1385 = 1425| m2 | 1425
B-JOviEGR T
¥+ T
FREY(1) AR EZE LY
V = 29 4+ 610 = 819 m3 81.9
BERELO) AT EZE LY
V = 130 + 415 = 545 m3 54.5
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= £ %=
H = &t " = AfEILO#
LARJL2 LARJL3 LARJL4 LARJL5 sl uE
(T &) (& 7I) @ R R EUHER o=
- Ay T
-7y sFEQ) N = 10| &K 1.0
9= By sFE) N = 10| &K 1.0
I9-7" By IFE3) N = 10| &K 1.0
kMY T
ELT
PRIEY(3) BEEHEKE()SD
V = 3.20/10%5.4 = 1.7
BEEHEKEQ)D
V = 3.32/10%6.0 2.0
EEHEKEQ)D
V = 358/10x5.4 = 1.9
TV = 5.6 | m3 5.6
HERELEG) BEEHEKENS
V = 0.75/10%5.4 = 0.4
BEEHEKEQ)D
V = 0.75/10%6.0 05
BEEHIKE(3)S
V = 0.75/10%5.4 = 0.4
TV = 13| m3 1.3
BET
EEHKEN) | No.15+5.74Hk L = 54| m 5.4
EEHKEQ) | No.18+3.6{k L = 60| m 6.0
EEHEKER) | No.20+3.74Hk L = 54| m 5.4
K2 KHE()|HA No.15+5. 74K N = 10 |&FRF 10
K2 7K18(2)|HA No.18+3.641E N = 10 |&FRF 1.0
K2 7K128B)|HA No.20+3.74HE N = 10 |&FRF 1.0
BEYEET
BEYEELT
URIAIEERIZEL(1) L = 10| m 1.0
RREAEUEL |A = 525+15.0+49.7+5.7 = 1229 | m2 | 1229
HEMRUIET (L = 21 + 499 = 71| m 7.1
SRR (BISRETEEZ XY A = 6560 m2| 656.0
EiRE T

282




= £ 5=
2 = Bt " = AELO®E
LARJL2 LARJL3 LARJL4 LARJL5 sl uE
(T &) (& 7I) @ R R EUHER o=
OB MRALIE(1) |$kFRCo
UBBIEEEEL() S
V = 0.47/10%1.0 =  005| m3 0.1
OB MRALIE(2) [#ERRCo
AREAEIELS
V = 350/10% 122.9 =  430| m3 43.0
TREHRALIE(3) |As
V = 6560 x 005 = 328| m3 32.8
RE&RT
REREREET
REERBEEN) N = 10| X 1.0
REBEEET
REFEZHE N = 10| &K 1.0
T
T
FAFAEBT  [No21fHE N = 10 |&Ffr| 1.0
ST
FRAI7ILNGHET
HAE(1) A = FlIfRETEZE XY = 8825| m2| 8825
=B A = FlIfRETEZE XY = 8640 | m2 | 8640
ERTEESRT
ERMAEYMT
RIPEEE |H No.18+8.6~No.20+11.0 = 10.0
A No.20+17.0~No.22+2.5 = 6.0
YN = 160 & | 160
$E R R
BT EEE
THEARE N = 10| &K 1.0
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+ T & =B £

AEWLOR
. = Sk YR iR (1) REREIE
” B m2) [ 315 (m3) | W@k m2) | 3258 m3) | 18 (m) |EEE (m2)
B : BC.4(NO.9+19.059) 0. 97 3. 80
Z : SP.4(NO. 10+6. 641) 1.6 1.00 1.5 3. 80 28.9
B : SP.4(NO. 10+6. 641) 1.00 3. 80
Z . EC.4(NO. 10+14. 223) 1.6 0.96 1.4 3.173 28.6
B : EC.4(NO.10+14. 223) 0.96 3.73
%z : NO. 11 5.8 0.91 5.4 3.173 21.6
B : NO.11 0. 91 3.73
Z : NO.12 20.0 1.10 20.1 3.84 715.7
B : NO.12 1.10 3.84
Z : BC.5(NO. 12+6. 163) 6.2 0.93 6.3 3.71 23.6
B : BC.5(NO. 12+6. 163) 0.93 3.71
Z : SP.5(N0.12+17.113) 11.0 1.20 11.17 3. 62 40. 6
B : SP.5(NO.12+17.113) 1.20 3. 62
Z : EC.5(NO. 13+8. 063) 11.0 1.10 12.1 3.68 40.2
B : EC.5(NO. 13+8. 063) 1.10 3.68
Z : BC.6(NO. 14+1. 359) 13.3 0.99 13.9 3.31 46.9
B : BC.6(NO. 14+1. 359) 0.99 3. 31
Z : SP.6(NO. 14+7.565) 6.2 2.10 9.6 0.43 1.3 2.30 17.6
B : SP.6(NO. 14+7. 565) 2.10 0.43 2.30
Z . EC.6(NO. 14+13. 770) 6.2 2.40 14.0 0.59 3.2 2.10 13.6
B : EC.6(NO. 14+13.770) 2.40 0.59 2.10
Z : NO.15 6.2 1.40 11.8 0.45 3.2 2.75 15.0
B : NO.15 1.40 0.45 2.75
Z . BC. 7(NO. 15+12. 629) 12.6 0. 91 14.6 2.8 3. 60 40.0
B : BC. 7(NO. 15+12. 629) 0. 91 3. 60
Z : NO.16 1.4 0.98 7.0 3.170 21.0
B : NO.16 0.98 3.70
Z : SP. 7(NO. 16+3. 920) 3.9 0.94 3.1 3. 62 14.3
B : SP.7(NO. 16+3. 920) 0.94 3. 62
Z . EC. 7(NO. 16+15.212) 11.3 1.10 11.5 3. 62 40.9
B : EC.7(NO.16+15.212) 1.10 3. 62
Z : NO. 17 4.8 0.99 5.0 3. 60 17.3
B : NO.17 0.99 3. 60
Z : NO.17+10.00 10.0 1.10 10.5 3. 60 36.0
B : NO.17+10.00 1.10 3. 60
Z : NO.18 10.0 1.20 11.5 3.170 36.5
B : NO.18 1.20 3.70
Z . BC.8(NO.18+17.779) 17.8 1.20 21.4 3.33 62.6
B : BC.8(NO.18+17.779) 1.20 3.33
Z : SP.8(NO. 19+10. 996) 13.2 1.10 15.2 3.34 44.0
B : SP.8(NO.19+10. 996) 1.10 3.34
Z : NO.20 9.0 1.20 10. 4 3.33 30.0
B : NO.20 1.20 3.33
Z : EC.8(NO. 20+4. 213) 4.2 1. 70 6.1 2.64 12.5
B : EC.8(NO. 20+4. 213) 1 2 64
Z : NO. 21 15. 8 1.10 2.03 36.9
! Em mn
N
221.1 270.5 19.2 750. 3
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285

+r I & # £
AELEE PEHI FRAREE L (1 R
- = " EH R IE
A B rEmm 3735 (m3) | wimEHE m2) | 3755 (m3) | 1E (m) | EdE (m2)
B : NO.21 2.50 1.10 2.03
Z : BC.9(NO.21+10. 797) 10. 8 1.50 21.6 0.41 8.2 2.67 25. 4
B : BC.9(NO.21+10. 797) 1.50 0.41 2.67
Z : NO.22 9.2 1.50 13.8 1.9 5.13 35.9
B : NO.22 1.50 5.13
Z . NO.22+3.40 3.4 1.50 5.1 5.13 17.4
B :
S
B :
S
B :
e
B :
e
B :
e
B :
e
B :
e
B :
e
B :
S
B :
S
B:
S
B :
S
B :
S
B :
3
B :
e
B:
S
B:
S
B:
e
B :
e
. U 7 v
N 54 Z/%Z/%Z/% )
5 s el | mal |wee
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=
AEWLOR —
. = S PR (1) HEET
” wiERE n2) | ST FE (m3) | W@ n2) | XL & (m3) | wrEaE m2) [ 3258 (m3)
B : BC.4(NO.9+19.059)
Z : SP.4(NO. 10+6. 641) 1.6
B : SP.4(NO. 10+6. 641)
Z= . EC.4(NO.10+14.223) 7.6
B : EC.4(NO.10+14.223)
%z : NO. 11 5.8
B : NO.11
Z : NO.12 20.0
B : NO.12
Z : BC.5(NO. 12+6. 163) 6.2
B : BC.5(NO. 12+6. 163)
Z= . SP.5(NO.12+17.113) 11.0
B : SP.5(NO.12+17.113)
Z : EC.5(NO. 13+8. 063) 11.0
B : EC.5(NO. 13+8. 063)
Z : BC.6(NO. 14+1. 359) 13.3
B : BC.6(NO. 14+1. 359)
Z : SP.6(NO. 14+7.565) 6.2 1.1 3.4
B : SP.6(NO. 14+7. 565) 1.1
Z . EC.6(NO. 14+13. 770) 6.2 1.3 1.4
B : EC.6(NO. 14+13.770) 1.3
Z : NO.15 6.2 0.63 6.0
B : NO.15 0.63
Z . BC. 7(NO. 15+12. 629) 12.6 4.0
B : BC. 7(NO. 15+12. 629)
Z : NO.16 1.4
B : NO.16
Z : SP. 7(NO. 16+3. 920) 3.9
B : SP. 7(NO. 16+3. 920)
Z . EC.7(NO.16+15.212) 11.3
B : EC.7(NO.16+15.212)
Z : NO. 17 4.8
B : NO.17
Z : NO.17+10.00 10.0
B : NO.17+10.00
Z : NO.18 10.0
B : NO.18
Z= . BC.8(NO. 18+17.779) 17.8
B : BC.8(NO. 18+17.779)
Z= . SP.8(NO. 19+10. 996) 13.2
B : SP.8(NO. 19+10. 996)
Z : NO.20 9.0
B : NO.20
Z : EC.8(NO. 20+4. 213) 4.2 0.73 1.5
B : EC.8(NO. 20+4. 213) 0.73
Z : NO. 21 15.8 1.4 16.8 W
\ =




+ T it g g
AL O —
- - Sk BEREL () BERL
“ WiEHE (n2) | ST FE (m3) | wrms m2) [ 3238 (m3) | wrmEe m2) | 258 (m3)
: NO. 21 1.4
: BC. 9(NO. 21+10. 797) 10. 8 0.75 11.6 0.02 0.1
: BC. 9(NO. 21+10. 797) 0.75 0.02
: NO. 22 9.2 3.5 0.1
: NO. 22
: NO. 22+3. 40 3.4

HI OIF{H0 OOF (W) OO\ S OO (B OO MY OO H0 OO (W) OOR(HS) OB OO MY O OO (WY OO (S OB OO MY O O WY O[S O B OO (R O O

23.4

244.5
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+ T it g g
AEWLOR _
- - -— EEE N RIERL
” wiERE n2) | ST FE (m3) | W@ n2) | XL & (m3) | wrEaE m2) [ 3258 (m3)

B : BC.4(NO.9+19. 059)
Z= : SP.4(NO. 10+6. 641) 7.6
B : SP.4(NO. 10+6. 641)
Z . EC.4(NO.10+14. 223) 7.6
B : EC.4(NO.10+14. 223)
Z . NO. 11 5.8
B : NO. 11
Z . NO.12 20.0
B : NO.12
Z= : BC.5(NO. 12+6. 163) 6.2
B : BC.5(NO. 12+6. 163)
Z . SP.5(NO.12+17.113) 11.0
B : SP.5(NO.12+17.113)
Z : EC.5(NO. 13+8. 063) 11.0
B : EC.5(NO. 13+8.063)
Z : BC. 6(NO. 14+1. 359) 13.3 0.11 0.7 0.17 1.1
B : BC.6(NO. 14+1. 359) 0.11 0.17
Z= : SP.6(NO. 14+7. 565) 6.2 0.11 0.7 0.17 1.1
B : SP.6(NO. 14+7. 565) 0.11 0.17
Z . EC.6(NO. 14+13. 770) 6.2 0.11 0.7 0.17 1.1
B : EC.6(NO. 14+13. 770) 0. 11 0.17
Z . N0.15 6.2 0.11 0.7 0.17 1.1
B : NO.15 0.11 0.17
Z . BC.7(NO. 15+12. 629) 12.6 0.7 1.1
B : BC.7(NO. 15+12. 629)
Z . NO.16 7.4
B : NO.16
Z= : SP. 7(NO. 16+3. 920) 3.9
B : SP.7(NO. 16+3. 920)
Z . EC.7(NO.16+15.212) 11.3
B : EC. 7(NO. 16+15.212)
Z . N0.17 4.8
B : NO.17
Z . NO.17+10. 00 10.0
B : NO.17+10. 00
Z: NO.18 10.0
B : NO.18
Z . BC.8(NO.18+17.779) 17.8 0.11 1.0 0.17 1.5
B : BC.8(NO.18+17.779) 0. 11 0.17
Z . SP.8(NO. 19+10. 996) 13.2 0.13 1.6 0.17 2.2
B : SP.8(NO. 19+10. 996) 0.13 0.17
Z : N0.20 9.0 0.6 0.8
B : NO.20
Z= : EC.8(NO. 20+4. 213) 4.2
B : EC.8(NO.20+4. 213)
Z : NO. 21 15.8 o 1.00 7.9 0.17 1.3 W

\ =-

o E /% 14. 6 /% 11.3 /%
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+r I & # £
AEUEE = £ R xITERL
A = TRt wrEHE m2) | 758 (m3) | wimas m2) [ S24E (m3) | wi@as (m2) [ 3248 (m3)

B : NO.21 1.00 0.17

Z : BC.9(NO.21+10. 797) 10. 8 0.10 59 0.17 1.8
B : BC.9(NO.21+10. 797) 0.10 0.17

Z : NO.22 9.2 0.04 0.6 0.04 1.0
B : NO.22 0.04 0.04

Z . NO.22+3.40 3.4 0.04 0.1 0.04 0.1
B :

e

B :

e

B :

e

B :

e

B :

S

B :

S

B :

e

B :

e

B:

e

B :

S

B:

S

B :

S

B:

S

B:

S

B:

e

B:

S

B:

S

B:

S

B:

S

] U 7 v
N 54 Z/%“Z/%Z/%
8 I wm mm




Z m B B O E &

AfELO#R
s T ) S T )
] & fE &E;Eﬁ, (%:tull)i(zf_{,ﬂg) &E;—db (%:tull)i(Eﬁg) _ —
MEm [EREm)| 18m |[EEm)| Em |@EiE(m)
B : BC. 4(NO.9+19. 059)
ZE : SP.4(NO. 10+6. 641) 1.6 0.73 2.8
B : SP.4(NO. 10+6. 641) 0.73
Z : EC.4(NO. 10+14. 223) 1.6 0.79 9.8
B : EC.4(NO. 10+14. 223) 0.79
Z : NO. 11 9.8 0.84 4.7
B : NO.11 0.84
Z : NO.12 20.0 0.26 11.0
B : NO.12 0.26
ZE : BC.5(NO. 12+6. 163) 6.2 0.36 1.9
B : BC.5(NO. 12+6. 163) 0.36
Z : SP.5(N0.12+17.113) 11.0 1.10 8.0
B : SP.5(N0.12+17.113) 1.10
ZE : EC.5(NO. 13+8.063) 11.0 1.20 12.7
B : EC.5(NO. 13+8. 063) 1.20
ZE : BC.6(NO. 14+1. 359) 13.3 8.0
B : BC.6(NO. 14+1. 359)
ZE : SP.6(NO. 14+7. 565) 6.2
B : SP.6(NO. 14+7. 565)
Z : EC.6(NO. 14+13.770) 6. 2
B : EC.6(NO. 14+13. 770)
Z : NO.15 6.2
B : NO.15
Z : BC. 7(NO. 15+12. 629) 12.6 1.50 9.5
B : BC. 7(NO. 15+12. 629) 1.50
Z : NO. 16 1.4 1.50 11.1
B : NO.16 1.50
ZE : SP. 7(NO. 16+3. 920) 3.9 1.47 9.8
B : SP.7(NO. 16+3. 920) 1. 47
Z . EC. 7(NO. 16+15.212) 11.3 1.25 15. 4
B : EC. 7(NO. 16+15.212) 1.25
Z : NO. 17 4.8 1.30 6.1
B : NO.17 1.30
Z : NO.17+10.00 10.0 1.26 12.8
B : NO.17+10.00 1.26
Z : NO.18 10.0 1.20 12.3
B : NO.18 1.20
Z : BC.8(NO.18+17.779) 17.8 10.7
B : BC.8(NO.18+17.779)
Z : SP.8(NO. 19+10. 996) 13.2
B : SP.8(N0. 19+10. 996)
Z : N0.20 9.0
B : NO.20
ZE : EC.8(NO.20+4. 213) 4.2
B : EC.8(NO. 20+4. 213)
Z : NO. 21 15.8 W W W
\ £
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Z m B B O E &
AfELO#R

1 = o EEEY (BLE) () | REER (B (A

" tEm |EEm)| t'm |[EEm)| Em (@i m)
: NO. 21
: BC.9(NO. 21+10. 797) 10.8 0.40 2.2
: BC. 9(NO. 21+10. 797) 0.40
: NO.22 9.2 1.8
: NO. 22
: NO. 22+3. 40 3.4

Hi OOF{HP OOF(H$) OO\ S OO (B OO MY OO H0 OO (W) OOF(HS) OO (B OO Y OO OO (W OO (HS) OB OO MY O O WY O[S OB OO (R O O

23.4

244.5
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FRETE
[L7]
PEHI 311.0
JoyoTEA1) 20.9
70vo1E(2),3) 61.0
BERHEKE)2),3) 5.6
& &t 3985
[(FHEL]
=T RIE 21.2
& F 21.2
WELTE
(7]
AR 29.3
BREREEL() 54.2
BEEL 0.2
JayoTEA1) 13.0
70vo§E2),3) 415
EEHEKE1),2),3) 1.3
& &t 139.5
(HHEL])
RTERL 14.2
& § 14.2
Eikt=
[£7)]
TEEHHR()  ERETEHMED)EREBEZHA
Eifk V=21.2-14.2/0.9 5.4
TREMR(2) AL (XH)EFREZFHEA
Eifk V=398.5-139.5/0.9 2435
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E & I & & =

AMEWLO R _ _
| & B E@Ez (Eﬁi) 2 E%Ez (Eﬁi) - __
Em |@mEWm)| tEm |[@mEMm)| 1|Em [miE(m)

B : BC.4(NO.9+19.059)
Z : SP.4(NO. 10+6. 641) 1.6 0.73 2.8
B : SP.4(NO. 10+6. 641) 0.73
Z . EC.4(NO. 10+14. 223) 1.6 0.79 5.8
B : EC.4(NO. 10+14. 223) 0.79
Z : NO. 11 5.8 0.84 4.7
B : NO.11 0.84
Z : NO.12 20.0 0.26 11.0
B : NO.12 0.26
Z : BC.5(NO. 12+6. 163) 6.2 0. 36 1.9
B : BC.5(NO. 12+6. 163) 0.36
Z . SP.5(N0O.12+17.113) 11.0 1.10 8.0
B : SP.5(NO.12+17.113) 1.10
Z : EC.5(NO. 13+8. 063) 11.0 1.20 12.1
B : EC.5(NO. 13+8.063) 1.20
Z : BC.6(NO. 14+1. 359) 13.3 8.0
B : BC.6(NO. 14+1. 359)
Z : SP.6(NO. 14+7. 565) 6.2
B : SP.6(NO. 14+7. 565)
Z . EC.6(NO. 14+13. 770) 6.2
B : EC.6(NO. 14+13.770)
Z : NO.15 6.2
B : NO.15
Z . BC. 7(NO. 15+12. 629) 12.6 1.50 9.5
B : BC. 7(NO. 15+12. 629) 1.50
Z : NO.16 1.4 1.50 11.1
B : NO.16 1.50
Z : SP. 7(NO. 16+3. 920) 3.9 1.47 5.8
B : SP. 7(NO. 16+3. 920) 1.47
Z : EC. 7(NO. 16+15.212) 11.3 1.25 15. 4
B : EC.7(NO.16+15.212) 1.25
Z : NO.17 4.8 1.30 6.1
B : NO.17 1.30
Z : NO.17+10.00 10.0 1.26 12.8
B : NO.17+10.00 1.26
%z : NO.18 10.0 1.20 12.3
B : NO.18 1.20
Z . BC.8(NO.18+17.779) 17.8 10.7
B : BC.8(NO.18+17.779)
Z . SP.8(NO. 19+10. 996) 13.2
B : SP.8(NO.19+10. 996)
Z : NO.20 9.0
B : NO.20
Z : EC.8(NO. 20+4. 213) 4.2
B : EC.8(NO. 20+4. 213)
Z : NO. 21 15.8 W W W

\ =-
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AfELO#R

E & I & & =

Al

=1
mnn

iz

iR (Z 1) ki (G 1A

tEm) [EHE(m)| f&m |EHEm)| 18m

mE 15 (m)

: NO. 21
: BC.9(NO. 21+10. 797)

10.8

0.40 2.2

: BC. 9(NO. 21+10. 797)
: NO.22

9.2

0.40
1.8

: NO. 22
: NO. 22+3. 40

3.4

Hi OOF{HP OOF(H$) OO\ S OO (B OO MY OO H0 OO (W) OOF(HS) OO (B OO Y OO OO (W OO (HS) OB OO MY O O WY O[S OB OO (R O O

23.4

244.5
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Javo®E)
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. = 95 REE LY (1) HELA)

) BRERE m2) [ 3T FE (m3) | wrmEHE n2) |32 FE (m3) | wrm@da n2) | 3§85 (m3)
B : NO.13+17.70 1.00 0.44
Z . BC. 6 (NO. 14+1. 359) 3.7 1.00 3.7 0.44 1.6
B : BC.6(NO. 14+1. 359) 1.00 0.44
Z . SP.6(NO. 14+7. 565) 6.2 0.67 5.2 0.45 2.8
B : SP.6(NO. 14+7.565) 0.67 0.45
ZE : EC.6(NO. 14+13. 770) 6.2 0.77 4.5 0.52 3.0
B : EC.6(NO. 14+13.770) 0.77 0.52
Z : NO.15 6.2 0.57 4.2 0.45 3.0
B : NO.15 0.57 0.45
Z : NO.15+5. 80 5.8 0.57 3.3 0.45 2.6
B :
o
B :
F
B :
FE
B :
g
B :
z

8 28. 1 /% 20.9 /% 13.0 /%
oy OBIEELTIEHEE

70y 01 2), 3)

. = 95 RIELY (1) HELA)

) BRERE m2) [3TFE (m3) | wimEHE n2) |32 FE (m3) | wrmda n2) | 3L F8 (m3)
B : NO.18+8. 60 0.59 0.44
Z : BC.8(N0.18+17.779) 9.2 0.59 5.4 0.44 4.0
B : BC.8(NO.18+17.779) 0.59 0.44
Z : SP.8(NO. 19+10. 996) 13.2 0.66 8.3 0.42 5.7
B : SP.8(NO.19+10. 996) 0. 66 0.42
Z : NO.20 9.0 1.10 7.9 0.58 4.5
B : NO.20 1.10 0.58
Z . EC.8(NO.20+4. 213) 4.2 0.71 3.8 0.58 2.4
B : EC.8(NO.20+4.213) 0.71 0.58
Z : NO. 21 15.8 1.30 15.9 0.82 1.1
B : NO.21 1.30 0.82
Z : BC.9(NO. 21+10. 797) 10. 8 0.58 10. 2 0.51 1.2
B : BC.9(NO.21+10.797) 0.58 0.51
Z : NO.22 9.2 0.96 7.1 0.60 5.1
B : NO.22 0.96 0.60
Z : NO.22+2.50 2.5 0.96 2.4 0.60 1.5
B :
E
B :
F

8 73.9 /% 61.0 /% 41.5 /%
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HERBEREETES
AELO#R 7 A 7 )L kt=bcm

A R B (m) (18 (m) [@# () A R B (m) (18 (m) [@# ()
& : BC. 4(NO. 9+19. 059) 2.10 8 : EC.8(NO.20+4.213) 3.00
=: SP.4(NO. 10+6. 641) 7.6 | 210 16.0 |=: NO.21 15.8 | 3.00 | 47.4
& SP.4(NO. 10+6. 641) 2.10 8 NO. 21 3.00
Z: EC.4(NO. 10+14. 223) 7.6 2.03 15.7 |=: BC.9(NO.21+10.797) 10. 8 3.00 32.4
g : EC.4(NO.10+14.223) 2.03 g : BC.9(NO. 21+10. 797) 3.00
=: NO. 11 58| 203 11.8 |=: NO.22 9.2 | 4.99| 36.8
& NO. 11 2.03 a: NO.22 4.99
=: NO. 12 200 | 204 | 407 |=: NO.22+3.40 3.4 49| 17.0
s NO.12 2.04 =y
= BC.5(NO. 12+6. 163) 6.2 207 127 [|=:
& : BC.5(NO. 12+6. 163) 2.07 B:
z: SP.5(NO. 12+17.113) 11.0 1. 64 20.4 |=:
g: SP.5(NO. 12+17.113) 1. 64 B:
=: EC.5(N0.13+8.063) | 11.0 | 1.67 | 182 |=:
& : EC. 5(NO. 13+8. 063) 1.67 B:
=: BC.6(NO.14+1.359) | 13.3 | 1.72 | 225 |=:
& : BC. 6 (NO. 14+1. 359) 1.72 B:
=: SP.6(NO. 14+7. 565) 6.2 300 146 |=:
B : SP.6(NO. 14+7. 565) 3.00 B:
= : EC. 6(NO. 14+13.770) 6.2 3.00 18.6 |=:
g : EC.6(NO. 14+13.770) 3.00 B:
=: NO. 15 6.2 3.00| 186 |=:
s NO.15 3.00 =y
Z: BC. 7(NO. 15+12. 629) 12.6 3.00 37.8 |=:
& : BC. 7(NO. 15+12. 629) 3.00 B:
=: NO. 16 7.4 3.00| 222 |=:
- NO.16 3.00 =y
=: SP.7(NO. 16+3. 920) 3.9 300 11.7 [=:
& : SP.7(NO. 16+3. 920) 3.00 B:
z: EC. 7(NO. 16+15. 212) 11.3 3.00 33.9 |=:
g : EC. 7(NO. 16+15.212) 3.00 B:
z: NO.17 4.8 3.00| 14.4 =
- NO.17 3.00 =y
=: NO. 17+10. 00 10.0 [ 3.00] 30.0|=
s NO. 17+10. 00 3.00 8-
=: NO. 18 10.0 | 3.00 | 30.0 |=:
- NO.18 3.00 =y
Z: BC.8(NO. 18+17.779) 17.8 3.00 53.4 |=:
& : BC.8(NO. 18+17.779) 3.00 B:
Zz: SP.8(NO. 19+10. 996) 13.2 3.00 39.6 |=:
g : SP.8(NO. 19+10. 996) 3.00 B:
=: NO. 20 9.0 3.00| 27.0|[=:
s NO. 20 3.00 =y
= EC.8(NO. 20+4. 213) 42 300| 126 |=: v

N E 20530 /| 522.4 N 3.2 ) 1336

& 244.5 V7 /| 656.0




mE OBEBRISES

AEILO#R RC-40 t=20cm

B R R (m) |18 (m) |[@E# (m) B R B (m) 1@ (m) |&#& ()
& : BC. 4(NO. 9+19. 059) 3.80 8 : EC.8(NO.20+4.213) 3.47
= SP.4(NO.10+6. 641) 7.6 3.8 | 289 |=: NO.21 15.8 | 3.43| 545
& SP.4(NO. 10+6. 641) 3. 80 a: NO. 21 3.43
Z: EC.4(NO. 10+14. 223) 7.6 3.73 28.6 |=: BC.9(NO.21+10.797) 10. 8 3.33 36.5
g : EC.4(NO.10+14.223) 3.73 g : BC.9(NO. 21+10. 797) 3.33
=: NO. 11 58| 3.73| 21.6 |=: NO.22 9.2 513 389
&: NO. 11 3.73 a: NO.22 5.13
z: NO. 12 200 | 3.84| 757 |=: NO.22+3.40 3.4 513 17.4
s NO.12 3.84 8-
= BC.5(NO. 12+6.163) 6.2 3.77| 23.6|=
& : BC.5(NO. 12+6. 163) 3.71 8:
z: SP.5(NO. 12+17.113) 11.0 3.62 40.6 |=:
g : SP.5(NO. 12+17.113) 3.62 B:
=: EC.5(N0.13+8.063) | 11.0 | 3.68 | 40.2 |=:
& : EC.5(NO. 13+8. 063) 3.68 8:
=: BC.6INO.14+1.359) | 13.3 | 3.37 | 46.9 |=:
& : BC. 6 (NO. 14+1. 359) 3.37 8:
= SP.6(NO. 14+7. 565) 6.2 34| 21.0|=
B : SP.6(NO. 14+7. 565) 3.4 8:
= : EC. 6(NO. 14+13.770) 6.2 3.33 20.9 |=:
g : EC.6(NO. 14+13.770) 3.33 B:
z: NO.15 6.2 3.33| 20.6|=
s NO.15 3.33 8-
Z: BC. 7(NO. 15+12. 629) 12.6 3.60 43.7 |=:
& : BC. 7(NO. 15+12. 629) 3.60 B:
=: NO. 16 7.4 370 27.0|=
s NO.16 3.70 8-
= SP.7(NO. 16+3.920) 3.9 3.62| 143 |=
& : SP.7(NO. 16+3. 920) 3.62 8:
Z: EC. 7(NO. 16+15. 212) 11.3 3.62 40.9 |=:
g : EC. 7(NO. 16+15.212) 3.62 8 :
z: NO.17 48| 360| 17.3|=:
s NO.17 3. 60 8-
=: NO. 17+10. 00 10.0| 3.60] 36.0|=:
s NO. 17+10. 00 3. 60 8-
=: NO. 18 10.0| 3.70] 36.5|=:
- NO.18 3.70 8-
Z: BC.8(NO. 18+17.779) 17.8 3.33 62.6 |=:
& : BC.8(NO.18+17.779) 3.33 B:
Z: SP.8(NO. 19+10. 996) 13.2 3.34 44.0 |=:
& : SP.8(NO. 19+10. 996) 3.34 B:
=: NO. 20 9.0 3.33| 30.0|=
s NO. 20 3.33 8-
= EC.8(NO. 20+4.213) 4.2 3.41] 143 |= '

N E 205317 )] 135.2 N 39.2 %/////////// 147.3

& i 244.5 7 | 882.5
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B (D ERIFAES

AEWO R BAEZREAs (13) t=bcm

B R B (m) |18 (m) |[@E# (m) B R B (m) |18 (m) |&#& ()
& : BC. 4(NO. 9+19. 059) 3.70 8 : EC.8(NO.20+4.213) 3.42
= SP.4(NO.10+6. 641) 7.6 [ 3.70| 281 |=: NO.21 15.8 | 3.38| 53.7
& SP.4(NO. 10+6. 641) 3.70 a: NO. 21 3.38
Z: EC.4(NO. 10+14. 223) 7.6 3.63 27.9 |=: BC.9(NO.21+10.797) 10. 8 3.28 36.0
g : EC.4(NO.10+14.223) 3.63 g : BC.9(NO. 21+10. 797) 3.28
=: NO. 11 58| 3.63| 21.1 |=: NO.22 9.2 513 387
&: NO. 11 3.63 a: NO.22 5.13
z: NO. 12 20.0 | 3.74| 73.7 |=: NO.22+3.40 3.4 513 17.4
s NO.12 3.74 8-
= BC.5(NO. 12+6.163) 6.2 3.67| 23.0]|=
& : BC.5(NO. 12+6. 163) 3.67 8:
z: SP.5(NO. 12+17.113) 11.0 3.52 39.5 |=:
g : SP.5(NO. 12+17.113) 3.52 8 :
=: EC.5(N0.13+8.063) | 11.0 | 3.58 | 39.1 |=:
& : EC.5(NO. 13+8. 063) 3.58 8:
=: BC.6INO.14+1.359) | 13.3 | 3.32 | 459 [|=:
& : BC. 6 (NO. 14+1. 359) 3.32 8:
= SP.6(NO. 14+7. 565) 6.2 3.36| 20.7|=
B : SP.6(NO. 14+7. 565) 3. 36 8:
= : EC. 6(NO. 14+13.770) 6.2 3.28 20.6 |=:
g : EC.6(NO. 14+13.770) 3.28 8:
z: NO.15 6.2 3.28| 20.3|=
s NO.15 3.28 8-
Z: BC. 7(NO. 15+12. 629) 12.6 3.50 42,7 |=:
& : BC. 7(NO. 15+12. 629) 3.50 B:
=: NO. 16 7.4 3.60| 26.3|=
s: NO.16 3. 60 8-
=: SP.7(NO. 16+3.920) 3.9 35| 139 |=
& : SP.7(NO. 16+3. 920) 3.52 8:
Z: EC. 7(NO. 16+15. 212) 11.3 3.52 39.8 |=:
g : EC. 7(NO. 16+15.212) 3.52 8 :
z: NO.17 48| 350| 16.8 |=:
s NO.17 3. 50 8-
=: NO. 17+10. 00 10.0| 350 ] 350 |=:
s NO. 17+10. 00 3.50 8-
=: NO. 18 10.0| 3.60] 355 |=:
- NO.18 3. 60 8-
Z: BC.8(NO. 18+17.779) 17.8 3.28 61.2 |=:
& : BC.8(NO.18+17.779) 3.28 8 :
Z: SP.8(NO. 19+10. 996) 13.2 3.29 43.4 |=:
g : SP.8(NO. 19+10. 996) 3.29 B:
=: NO. 20 9.0 3.28| 29.6 |=
s NO. 20 3.28 8-
= EC.8(NO. 20+4.213) 4.2 3.4 141 |= |

N E 2053171 T718.2 N 39.2 W/////////j 1458

& i 244.5 7 | 864.0

298



B f #H B Gt E £
oAl FEARET b3 10 HEprdy
5 " = Bl % #
10700
8480
PR RC-40 t=10cm
A=1/2x (1070 + 848 ) x 2.22
= 21.3 | m2 21.3
BESHE @ 6%150%150
A=1/2x (1070 + 848 ) x 2.22
= 21.3 | m2 21.3
avy)—k 18-8-25BB t=10cm
v=1/2x1(1070 + 848 ) x 222
x 0.10 = 2.1 | m3 2.1
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B 4 % 2 &t & &

oAl RER BRI =) I 10 HHY
Gl 5 = Bl % #
A V = B ES XY 455.7 | m3 455.7
BE() |V = FRHEELY 3218 | m3 321.8
BE(2) |V = FRHEELY 6348 | m3 634.8
THFERO)|V = BIMEEE LY (L=0.2km) 552 | m3 55.2
RERSREMRIRE A = BIRETES XY 4710 | m2 4710
OEMRALIEB)V = 471.0%0.05 236 | m3 23.6
AELDSHE|N = 30+52+130+4 2160 | & 216.0
ERIKERED| P 2008 FERIFLVE 8.0 m 8.0
ERHEKEREQ| ¢ 100007 —bEE|E 10.0 m 10.0
kiR E |A = 325+15.3 478 | m2 4738
HEf#E  [H300 x 300 40 m 4.0
RipstoBmnE | B 7S 1.0 = 1.0
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T I & §E E

IR ESE R A1)
1 = SE g HEH B BE2)

ErEEmM2)| ST (M3) [ WrEEm2)| SLFE(m3) |BrE & (m2)| SLFE(m3)
No.0 0.0 0.0
SP.1(N0.0+10.579) 10.6 5.9 31.3 28.7 152.1
SP.1(N0.0+10.579) 5.9 28.7
EC.1(No.0+19.909) 9.3 25 39.1 12.2 190.2
EC.1(No.0+19.909) 25 12.2
BC.2(No.1+15.610) 15.7 2.3 37.7 9.6 171.1
BC.2(No.1+15.610) 2.3 9.6
No.2 44 2.1 9.7 75 37.6
No.2 2.1 75
No.3 20.0 0.85 85 15 36.0 0.11 76.1
No.3 0.85 15 0.11
SP.2(No.3+14.474) 145 9.4 74.3 2.3 27.6 0.0 0.8
SP.2(No.3+14.474) 94 23
No.4 55 9.0 50.6 2.3 12.7
No.4 9.0 2.3
No.5 20.0 5.4 144.0 1.8 41.0
No.5 5.4 1.8
EC.2(No.5+13.337) 13.3 5.7 73.8 1.9 246
EC.2(No.5+13.337) 5.7 1.9
No.6 6.7 35 30.8 1.6 11.7
No.6 35 1.6
No.7 20.0 0.94 44.4 1.1 27.0 0.60 6.0
No.7 0.94 1.1 0.60
BC.3(No.7+3.046) 3.0 1.8 4.1 14 3.8 0.0 0.9
BC.3(No.7+3.046) 1.8 14
No.7+17.0 14.0 1.8 25.2 14 19.6
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R SHERBFERETEE

R (1) —
. = BATES

A A B¥  —Em [mamm| B | BEm |sEme] TEm)
No.O 3.00
SP.1(No.0+10.579) 10.6 3.00 31.8
SP.1(No.0+10.579) 3.00
EC.1(No.0+19.909) 9.3 3.00 279
EC.1(No.0+19.909) 3.00
BC.2(No.1+15.610) 15.7 3.00 471
BC.2(No.1+15.610) 3.00

No.2 4.4 3.00 13.2
No.2 3.00

No.3 20.0 3.00 60.0
No.3 3.00
SP.2(No.3+14.474) 145 3.00 435
SP.2(No.3+14.474) 3.00

No.4 5.5 3.00 16.5
No.4 3.00

No.5 20.0 3.00 60.0
No.5 3.00
EC.2(No.5+13.337) 13.3 3.00 399
EC.2(No.5+13.337) 3.00

No.6 6.7 3.00 20.1
No.6 3.00

No.7 20.0 3.00 60.0
No.7 3.00
BC.3(No.7+3.046) 3.0 3.00 9.0
BC.3(No.7+3.046) 3.00
No.7+17.0 140 3.00 420
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REERME()ER LT EFESE

RETE
[L7]
HEHI 455.7
RKE+DS5HE 1944 = (21648 X 0.9m3)
& i 650.1
WELTS
[L7]
®1(2) 634.8
& i 634.8
[(HELX] XEAX
1) 321.8
& i 321.8
Eikt=
[L7]
THHEMRG) SHELE(EW)FREESHHNSEM (L=0.2km)
FEA-EH V=634.8/0.9-650.1 55.2
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BE 4 B E 6t B B
M % | BeResERLE | R/ # B 0 HHy
5 " = Bl % #
mencaEnnE|  EREHKEREN)

$ 200 kg/m

wl = 8.0 x 178 = 1424

KELTDS kg/ %

w2 = 2160 X 3.9 = 8424

W = 1424 + 8424 = 856.64

856.64 / 1000 = 0.857 t 0.9
(=]
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B & M B 5t & &
MmooA RISy TR RO 10 =Xy
5 " = Bl % #
ROSvTERO| AT —RE
H4 @ 1000 kg/m
wi = 100 x 4275 4275
4275 / 1000 = 0428 t 0.4
RS9 TEROQ)| Bkt
H1 19%1524%3048
ke/
wi = 100 x 6930 6930.0
19%1524%914 kg/*ﬂl
w2 = 10 x 2074 207.4
HER
H300%300 ke/m
w3 = 40 x 930 372.0
W = 69300 + 2074 372.0 = 7509.4
7509.4 / 1000 = 7.509 t 75
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